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[bookmark: _GoBack]In this presentation, the reading excerpt explains about the problem in the Woods university and various solutions. The listening, further, discusses about the solution and surveys if the policy worked or not.
As stated in reading segment, the university has not been allotted enough budget for the coming year ; therefore , campus officials were looking for ways to raise  additional funds to run this institutional enterprise. They debated about the solutions such as : raising tuitions and campus fees , decreasing salaries of the employees and the like. Eventually ,  they came up with the idea  to increase the  daily parking fees for students from four dollars to eight dollars. 
The listening passage goes on highlighting the effects of this policy on rising additional funds. The passage expresses that increase  in daily parking fees from four dollars to eight dollars  did not help boost the  additional funds. Because it was actually difficult for students to afford to pay eight dollars per day and they manage to come to campus together instead of coming alone . By the same token ,  the fees are divided amongst the students  and they can save money . All the same , they  might experience other ways to get to the uni; namely,  coming  by bicycle, by bus or even walking through the campus. The bottom line:  parking car reduced more than a half and the funds did not rise by this policy.
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